
  

 

 Accession: gi|115454901 

                                                                                                          Sequence: 

QAFDDAIAELDTLGEESYK 

                                                                                                          Repeat 1: experiment 1 

G                                          GPG (117) / MPG (115) = 8.55 

Precursor mass (m/z): 601.55 
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 Accession: gi|115454901 

                                                                                                        Sequence: 

QAFDDAIAELDTLGEESYK 

                                                                                                        Repeat 2: experiment 2 

                                        GPG (115) / MPG (117) = 10.00 

Precursor mass (m/z): 601.55 
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Accession: gi|115443865           Sequence: QIGAPYYIECSSK        Repeat 1: experiment 1 

GPG (117) / MPG (115) = 0.13      Precursor mass (m/z): 821.89  
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 Accession: gi|115443865                                                                                                        

Sequence: 

                                                                                                             QIGAPYYIECSSK 

                                                                                                        Repeat 2: experiment 2 

                                        GPG (115) / MPG (117) = 0.12 

Precursor mass (m/z): 821.89 
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